

Summary of Bids Received

Project: Culvert Replacement 2020

Section: 20-00999-71-DR

Description: This project consists of replacing four culverts on North Avenue and four culverts on Gages Lake Road.

Bidder Campanella & Sons, Inc. Copenhaver Construction Berger Excavating Contractors Lake County Grading Company	Address 39207 N Magnetics Blvd 75 Koppie Dr. 1205 Garland Road 32901 N. IL Rte 21	City, State, Zip Wadsworth, IL 60083 Gilberts, IL 60136 Wauconda, IL 60084 Libertyville, IL 60048	Bond Bid Bond Bid Bond Bid Bond Bid Bond	\$268,429.16 \$276,827.00 \$343,400.00 \$432,314.19	-26.54% -8.87%	Eng. Estimate -\$108,395.84 -\$99,998.00 -\$33,425.00 \$55,489.19
Engineer's Estimate				\$376,825.00		
Design	IDOT(2)	Contract Bidder		County Engineer		
Finance	Bid Tab File	Resident Eng.	N	lgr Capital Progra	mming	
Construction	Project File	Request By Mail				



Return Bid Tabulation

Project: Culvert Replacement 2020 **Section:** 20-00999-71-DR

Description: This project consists of replacing four culverts on North Avenue and four culverts on Gages Lake Road. **CPMS Pin:** B-01620a

Let Date: 4/13/2021

Item No.	Pay Code	Description	Quantity	Unit	Eng Es	timate	Berger Excavati	ng Contractors	Campanella 8	& Sons, Inc.		ty Grading pany	Copenhaver Construction	
NO.					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20800150	TRENCH BACKFILL	211.0	CU YD	\$35.00	\$7,385.00	\$59.00	\$12,449.00	\$67.81	\$14,307.91	\$30.00	\$6,330.00	\$33.00	\$6,963.00
2	21101615	TOPSOIL FURNISH AND PLACE, 4"	798.0	SQ YD	\$5.00	\$3,990.00	\$12.00	\$9,576.00	\$0.10	\$79.80	\$6.50	\$5,187.00	\$4.00	\$3,192.00
3	21301052	EXPLORATION TRENCH 52" DEPTH	100.0	FOOT	\$50.00	\$5,000.00	\$25.00	\$2,500.00	\$23.40	\$2,340.00	\$0.01	\$1.00	\$15.00	\$1,500.00
4	21301084	EXPLORATION TRENCH 84" DEPTH	20.0	FOOT	\$75.00	\$1,500.00	\$50.00	\$1,000.00	\$117.00	\$2,340.00	\$100.00	\$2,000.00	\$20.00	\$400.00
5	21400100	GRADING AND SHAPING DITCHES	400.0	FOOT	\$15.00	\$6,000.00	\$26.25	\$10,500.00	\$6.90	\$2,760.00	\$14.00	\$5,600.00	\$15.00	\$6,000.00
6	25000210	SEEDING, CLASS 2A	0.2	ACRE	\$2,500.00	\$500.00	\$6,940.00	\$1,388.00	\$0.10	\$0.02	\$5,000.00	\$1,000.00	\$6,000.00	\$1,200.00
7	25000312	SEEDING, CLASS 4A	0.1	ACRE	\$3,500.00	\$350.00	\$10,775.00	\$1,077.50	\$5,250.00	\$525.00	\$12,000.00	\$1,200.00	\$15,000.00	\$1,500.00
8	25100630	EROSION CONTROL BLANKET	3.0	SQ YD	\$3.00	\$9.00	\$11.00	\$33.00	\$21.00	\$63.00	\$10.00	\$30.00	\$30.00	\$90.00
9	28000305	TEMPORARY DITCH CHECKS	80.0	FOOT	\$15.00	\$1,200.00	\$15.00	\$1,200.00	\$15.75	\$1,260.00	\$18.00	\$1,440.00	\$15.00	\$1,200.00
10	28000400	PERIMETER EROSION BARRIER	98.0	FOOT	\$10.00	\$980.00	\$6.00	\$588.00	\$10.00	\$980.00	\$10.00	\$980.00	\$8.00	\$784.00
11	28000510	INLET FILTERS	5.0	EACH	\$175.00	\$875.00	\$275.00	\$1,375.00	\$125.00	\$625.00	\$0.01	\$0.05	\$60.00	\$300.00
12	48101200	AGGREGATE SHOULDERS, TYPE B	15.0	TON	\$100.00	\$1,500.00	\$65.00	\$975.00	\$96.00	\$1,440.00	\$30.00	\$450.00	\$55.00	\$825.00
13	50100100	REMOVAL OF EXISTING STRUCTURES	4.0	EACH	\$300.00	\$1,200.00	\$450.00	\$1,800.00	\$450.00	\$1,800.00	\$10,000.00	\$40,000.00	\$500.00	\$2,000.00
14	50105220	PIPE CULVERT REMOVAL	532.0	FOOT	\$30.00	\$15,960.00	\$26.00	\$13,832.00	\$14.06	\$7,479.92	\$20.00	\$10,640.00	\$25.00	\$13,300.00
15	50201101	COFFERDAM (TYPE 1) (LOCATION - 1)	1.0	EACH	\$7,500.00	\$7,500.00	\$8,000.00	\$8,000.00	\$2,845.00	\$2,845.00	\$4,000.00	\$4,000.00	\$8,000.00	\$8,000.00
16	50201102	COFFERDAM (TYPE 1) (LOCATION -2)	1.0	EACH	\$7,500.00	\$7,500.00	\$8,000.00	\$8,000.00	\$2,845.00	\$2,845.00	\$4,000.00	\$4,000.00	\$8,000.00	\$8,000.00
17	6/213660	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 24"	7.0	EACH	\$1,250.00	\$8,750.00	\$2,025.00	\$14,175.00	\$1,873.72	\$13,116.04	\$10,000.00	\$70,000.00	\$1,000.00	\$7,000.00
18	54214719	PRECAST REINFORCED CONCRETE FLARED END SECTION, ELLIPTICAL, EQUIVALENT ROUND-SIZE 24"	4.0	EACH	\$1,450.00	\$5,800.00	\$2,250.00	\$9,000.00	\$1,959.25	\$7,837.00	\$10,000.00	\$40,000.00	\$1,100.00	\$4,400.00
19	54214731	PRECAST REINFORCED CONCRETE FLARED END SECTION, ELLIPTICAL, EQUIVALENT ROUND-SIZE 36"	1.0	EACH	\$2,000.00	\$2,000.00	\$3,050.00	\$3,050.00	\$2,883.00	\$2,883.00	\$10,000.00	\$10,000.00	\$2,000.00	\$2,000.00



Return Bid Tabulation

Project: Culvert Replacement 2020 **Section:** 20-00999-71-DR

Description: This project consists of replacing four culverts on North Avenue and four culverts on Gages Lake Road. **CPMS Pin:** B-01620a

Let Date: 4/13/2021

Item No.	Pay Code	Description	Quantity	Unit	Eng Est	imate	Berger Excavati	ng Contractors	Campanella 8	& Sons, Inc.		ity Grading pany	Copenhaver	Construction
140.					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
20		GRATING FOR CONCRETE FLARED END SECTION 24"	6.0	EACH	\$750.00	\$4,500.00	\$995.00	\$5,970.00	\$330.00	\$1,980.00	\$330.00	\$1,980.00	\$600.00	\$3,600.00
21	54248130	GRATING FOR CONCRETE FLARED END SECTION EQUIVALENT ROUND-SIZE 24"	4.0	EACH	\$950.00	\$3,800.00	\$800.00	\$3,200.00	\$330.00	\$1,320.00	\$330.00	\$1,320.00	\$600.00	\$2,400.00
22	542A0229	PIPE CULVERTS, CLASS A, TYPE 1 24"	94.0	FOOT	\$80.00	\$7,520.00	\$85.00	\$7,990.00	\$147.20	\$13,836.80	\$48.00	\$4,512.00	\$110.00	\$10,340.00
23	542A1069	PIPE CULVERTS, CLASS A, TYPE 2 24"	139.0	FOOT	\$95.00	\$13,205.00	\$113.00	\$15,707.00	\$107.66	\$14,964.74	\$43.00	\$5,977.00	\$110.00	\$15,290.00
24	542A1075	PIPE CULVERTS, CLASS A, TYPE 2 30"	75.0	FOOT	\$110.00	\$8,250.00	\$160.00	\$12,000.00	\$159.07	\$11,930.25	\$53.00	\$3,975.00	\$125.00	\$9,375.00
25	542A5491	PIPE CULVERTS, CLASS A, TYPE 1 EQUIVALENT ROUND-SIZE 36"	56.0	FOOT	\$175.00	\$9,800.00	\$205.00	\$11,480.00	\$220.38	\$12,341.28	\$111.00	\$6,216.00	\$175.00	\$9,800.00
26		PIPE CULVERTS, CLASS A, TYPE 2 EQUIVALENT ROUND-SIZE 24"	113.0	FOOT	\$100.00	\$11,300.00	\$139.00	\$15,707.00	\$182.20	\$20,588.60	\$45.00	\$5,085.00	\$150.00	\$16,950.00
27	60100905	PIPE DRAINS 4"	100.0	FOOT	\$35.00	\$3,500.00	\$20.00	\$2,000.00	\$26.90	\$2,690.00	\$0.01	\$1.00	\$15.00	\$1,500.00
28	60100915	PIPE DRAINS 6"	100.0	FOOT	\$40.00	\$4,000.00	\$21.00	\$2,100.00	\$30.20	\$3,020.00	\$0.01	\$1.00	\$20.00	\$2,000.00
29	60204505	CATCH BASINS, TYPE A, 5'-DIAMETER, TYPE 8 GRATE	1.0	EACH	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,537.00	\$3,537.00	\$6,000.00	\$6,000.00	\$3,800.00	\$3,800.00
30		MANHOLES, TYPE A, 5'-DIAMETER, TYPE 1 FRAME, CLOSED LID	2.0	EACH	\$5,000.00	\$10,000.00	\$5,000.00	\$10,000.00	\$3,960.00	\$7,920.00	\$6,000.00	\$12,000.00	\$3,800.00	\$7,600.00
31	60500040	REMOVING MANHOLES	1.0	EACH	\$750.00	\$750.00	\$990.00	\$990.00	\$450.00	\$450.00	\$6,000.00	\$6,000.00	\$800.00	\$800.00
32		MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	5,659.0	UNIT	\$1.00	\$5,659.00	\$1.00	\$5,659.00	\$1.00	\$5,659.00	\$1.00	\$5,659.00	\$1.00	\$5,659.00
33	LC200501	REJECTED LOAD TRANSPORTATION	3.0	LOAD	\$750.00	\$2,250.00	\$50.00	\$150.00	\$120.00	\$360.00	\$0.01	\$0.03	\$100.00	\$300.00
34	LC800874	TEMPORARY TRAFFIC SIGNAL TIMING	9.0	EACH	\$1,000.00	\$9,000.00	\$700.00	\$6,300.00	\$420.00	\$3,780.00	\$400.00	\$3,600.00	\$250.00	\$2,250.00
35	X0322881	TREE TRIMMING	2.0	EACH	\$500.00	\$1,000.00	\$500.00	\$1,000.00	\$400.00	\$800.00	\$450.00	\$900.00	\$50.00	\$100.00
36	X0325825	PAVEMENT REPLACEMENT	220.0	SQ YD	\$500.00	\$110,000.00	\$260.00	\$57,200.00	\$210.00	\$46,200.00	\$220.00	\$48,400.00	\$137.00	\$30,140.00
37	X0327037	SPECIAL GRATE No. 1	1.0	EACH	\$1,500.00	\$1,500.00	\$600.00	\$600.00	\$755.00	\$755.00	\$330.00	\$330.00	\$1,500.00	\$1,500.00
38	X0327038	SPECIAL GRATE No. 2	1.0	EACH	\$3,000.00	\$3,000.00	\$1,500.00	\$1,500.00	\$1,085.00	\$1,085.00	\$660.00	\$660.00	\$1,700.00	\$1,700.00



Return Bid Tabulation

Project: Culvert Replacement 2020 **Section:** 20-00999-71-DR

Description: This project consists of replacing four culverts on North Avenue and four culverts on Gages Lake Road. **CPMS Pin:** B-01620a

Let Date: 4/13/2021

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Berger Excavating Contractors		Campanella & Sons, Inc.		Lake County Grading Company		Copenhaver Construction	
140.					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
39	X0426200 DEW/	ATERING	1.0	LSUM	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00	\$8,600.00	\$8,600.00	\$0.01	\$0.01	\$15,000.00	\$15,000.00
40	X2511630 EROS	SION CONTROL BLANKET (SPECIAL)	796.0	SQ YD	\$12.00	\$9,552.00	\$2.50	\$1,990.00	\$6.30	\$5,014.80	\$2.50	\$1,990.00	\$4.00	\$3,184.00
41	X7010216 TRAF (SPEC	FIC CONTROL AND PROTECTION CIAL)	1.0	L SUM	\$55,000.00	\$55,000.00	\$57,500.00	\$57,500.00	\$24,200.00	\$24,200.00	\$100,500.00	\$100,500.00	\$55,000.00	\$55,000.00
42	XX006343 SEED	ING (COMPLETE)	1,135.0	SQ YD	\$12.00	\$13,620.00	\$10.10	\$11,463.50	\$8.00	\$9,080.00	\$10.00	\$11,350.00	\$6.00	\$6,810.00
43	XX006658 FLOC	CULATION LOGS	5.0	LOGS	\$100.00	\$500.00	\$50.00	\$250.00	\$10.50	\$52.50	\$0.01	\$0.05	\$150.00	\$750.00
44	XX006659 FLOC	CULATION POWDER	5.0	LBS	\$100.00	\$500.00	\$25.00	\$125.00	\$1.50	\$7.50	\$0.01	\$0.05	\$25.00	\$125.00
45	X X 11116 / 12U	METER EROSION BARRIER, ROLLED LSIOR	100.0	FOOT	\$10.00	\$1,000.00	\$13.00	\$1,300.00	\$10.50	\$1,050.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00
46	XX008865 PERM	MEABLE PLASTIC BERM	80.0	FOOT	\$14.00	\$1,120.00	\$15.00	\$1,200.00	\$21.00	\$1,680.00	\$25.00	\$2,000.00	\$15.00	\$1,200.00
	Bid Total					\$376,825.00		\$343,400.00		\$268,429.16		\$432,314.19		\$276,827.00



Project: Culvert Replacement 2020

Section: 20-00999-71-DR

Description: This project consists of replacing four culverts on North Avenue and four culverts on Gages Lake Road.

Item	Day Oads	Description	Quantity	11!4	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid	
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price	
1	20800150	TRENCH BACKFILL	211.0	CU YD	\$35.00	\$7,385.00	\$30.00	\$67.81	\$47.45	
2	21101615	TOPSOIL FURNISH AND PLACE, 4"	798.0	SQ YD	\$5.00	\$3,990.00	\$0.10	\$12.00	\$5.65	
3	21301052	EXPLORATION TRENCH 52" DEPTH	100.0	FOOT	\$50.00	\$5,000.00	\$0.01	\$25.00	\$15.85	
4	21301084	EXPLORATION TRENCH 84" DEPTH	20.0	FOOT	\$75.00	\$1,500.00	\$20.00	\$117.00	\$71.75	
5	21400100	GRADING AND SHAPING DITCHES	400.0	FOOT	\$15.00	\$6,000.00	\$6.90	\$26.25	\$15.54	
6	25000210	SEEDING, CLASS 2A	0.2	ACRE	\$2,500.00	\$500.00	\$0.10	\$6,940.00	\$4,485.03	
7	25000312	SEEDING, CLASS 4A	0.1	ACRE	\$3,500.00	\$350.00	\$5,250.00	\$15,000.00	\$10,756.25	
8	25100630	EROSION CONTROL BLANKET	3.0	SQ YD	\$3.00	\$9.00	\$10.00	\$30.00	\$18.00	
9	28000305	TEMPORARY DITCH CHECKS	80.0	FOOT	\$15.00	\$1,200.00	\$15.00	\$18.00	\$15.94	
10	28000400	PERIMETER EROSION BARRIER	98.0	FOOT	\$10.00	\$980.00	\$6.00	\$10.00	\$8.50	
11	28000510	INLET FILTERS	5.0	EACH	\$175.00	\$875.00	\$0.01	\$275.00	\$115.00	
12	48101200	AGGREGATE SHOULDERS, TYPE B	15.0	TON	\$100.00	\$1,500.00	\$30.00	\$96.00	\$61.50	
13	50100100	REMOVAL OF EXISTING STRUCTURES	4.0	EACH	\$300.00	\$1,200.00	\$450.00	\$10,000.00	\$2,850.00	
14	50105220	PIPE CULVERT REMOVAL	532.0	FOOT	\$30.00	\$15,960.00	\$14.06	\$26.00	\$21.27	
15	50201101	COFFERDAM (TYPE 1) (LOCATION - 1)	1.0	EACH	\$7,500.00	\$7,500.00	\$2,845.00	\$8,000.00	\$5,711.25	



Project: Culvert Replacement 2020

Section: 20-00999-71-DR

Description: This project consists of replacing four culverts on North Avenue and four culverts on Gages Lake Road.

ltem	Day Code	Description	Quantity	Unit	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price
16	50201102	COFFERDAM (TYPE 1) (LOCATION -2)	1.0	EACH	\$7,500.00	\$7,500.00	\$2,845.00	\$8,000.00	\$5,711.25
17	54213669	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 24"	7.0	EACH	\$1,250.00	\$8,750.00	\$1,000.00	\$10,000.00	\$3,724.68
18	54214719	PRECAST REINFORCED CONCRETE FLARED END SECTION, ELLIPTICAL, EQUIVALENT ROUND-SIZE 24"	4.0	EACH	\$1,450.00	\$5,800.00	\$1,100.00	\$10,000.00	\$3,827.31
19	54214731	PRECAST REINFORCED CONCRETE FLARED END SECTION, ELLIPTICAL, EQUIVALENT ROUND-SIZE 36"	1.0	EACH	\$2,000.00	\$2,000.00	\$2,000.00	\$10,000.00	\$4,483.25
20	54247130	GRATING FOR CONCRETE FLARED END SECTION 24"	6.0	EACH	\$750.00	\$4,500.00	\$330.00	\$995.00	\$563.75
21	54248130	GRATING FOR CONCRETE FLARED END SECTION EQUIVALENT ROUND-SIZE 24"	4.0	EACH	\$950.00	\$3,800.00	\$330.00	\$800.00	\$515.00
22	542A0229	PIPE CULVERTS, CLASS A, TYPE 1 24"	94.0	FOOT	\$80.00	\$7,520.00	\$48.00	\$147.20	\$97.55
23	542A1069	PIPE CULVERTS, CLASS A, TYPE 2 24"	139.0	FOOT	\$95.00	\$13,205.00	\$43.00	\$113.00	\$93.42
24	542A1075	PIPE CULVERTS, CLASS A, TYPE 2 30"	75.0	FOOT	\$110.00	\$8,250.00	\$53.00	\$160.00	\$124.27
25	542A5491	PIPE CULVERTS, CLASS A, TYPE 1 EQUIVALENT ROUND-SIZE 36"	56.0	FOOT	\$175.00	\$9,800.00	\$111.00	\$220.38	\$177.85
26	542A8209	PIPE CULVERTS, CLASS A, TYPE 2 EQUIVALENT ROUND-SIZE 24"	113.0	FOOT	\$100.00	\$11,300.00	\$45.00	\$182.20	\$129.05



Project: Culvert Replacement 2020

Section: 20-00999-71-DR

Description: This project consists of replacing four culverts on North Avenue and four culverts on Gages Lake Road.

Item	Day Carla	Description	Ou antitu	11!4	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price
27	60100905	PIPE DRAINS 4"	100.0	FOOT	\$35.00	\$3,500.00	\$0.01	\$26.90	\$15.48
28	60100915	PIPE DRAINS 6"	100.0	FOOT	\$40.00	\$4,000.00	\$0.01	\$30.20	\$17.80
29	60204505	CATCH BASINS, TYPE A, 5'-DIAMETER, TYPE 8 GRATE	1.0	EACH	\$3,500.00	\$3,500.00	\$3,500.00	\$6,000.00	\$4,209.25
30	60221100	MANHOLES, TYPE A, 5'-DIAMETER, TYPE 1 FRAME, CLOSED LID	2.0	EACH	\$5,000.00	\$10,000.00	\$3,800.00	\$6,000.00	\$4,690.00
31	60500040	REMOVING MANHOLES	1.0	EACH	\$750.00	\$750.00	\$450.00	\$6,000.00	\$2,060.00
32	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	5,659.0	UNIT	\$1.00	\$5,659.00	\$0.01	\$120.00	\$34.25
33	LC200501	REJECTED LOAD TRANSPORTATION	3.0	LOAD	\$750.00	\$2,250.00	\$0.01	\$120.00	\$34.25
34	LC800874	TEMPORARY TRAFFIC SIGNAL TIMING	9.0	EACH	\$1,000.00	\$9,000.00	\$250.00	\$700.00	\$442.50
35	X0322881	TREE TRIMMING	2.0	EACH	\$500.00	\$1,000.00	\$50.00	\$500.00	\$350.00
36	X0325825	PAVEMENT REPLACEMENT	220.0	SQ YD	\$500.00	\$110,000.00	\$137.00	\$260.00	\$206.75
37	X0327037	SPECIAL GRATE No. 1	1.0	EACH	\$1,500.00	\$1,500.00	\$330.00	\$1,500.00	\$796.25
38	X0327038	SPECIAL GRATE No. 2	1.0	EACH	\$3,000.00	\$3,000.00	\$660.00	\$1,700.00	\$1,236.25
39	X0426200	DEWATERING	1.0	LSUM	\$5,000.00	\$5,000.00	\$0.01	\$15,000.00	\$7,400.00
40	X2511630	EROSION CONTROL BLANKET (SPECIAL)	796.0	SQ YD	\$12.00	\$9,552.00	\$2.50	\$6.30	\$3.83



Project: Culvert Replacement 2020

Section: 20-00999-71-DR

Description: This project consists of replacing four culverts on North Avenue and four culverts on Gages Lake Road.

Item	Day Cada	Description	Quantity	Unit	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid Price
No.	Pay Code	Description	Quantity	Offic	Unit Price	Extnd. Price	Price	Price	
41	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$55,000.00	\$55,000.00	\$24,200.00	\$100,500.00	\$59,300.00
42	XX006343	SEEDING (COMPLETE)	1,135.0	SQ YD	\$12.00	\$13,620.00	\$6.00	\$10.10	\$8.53
43	XX006658	FLOCCULATION LOGS	5.0	LOGS	\$100.00	\$500.00	\$0.01	\$150.00	\$52.63
44	XX006659	FLOCCULATION POWDER	5.0	LBS	\$100.00	\$500.00	\$0.01	\$25.00	\$12.88
45	x x i ii ih / 'Ju	PERIMETER EROSION BARRIER, ROLLED EXCELSIOR	100.0	FOOT	\$10.00	\$1,000.00	\$10.00	\$13.00	\$10.88
46	XX008865	PERMEABLE PLASTIC BERM	80.0	FOOT	\$14.00	\$1,120.00	\$15.00	\$25.00	\$19.00
		Bid Total			\$376,825.00				